Nom : ……………………………………


Date : ………………………………………
	C.M.
	Je calcule jusque 200.


1) Complète :
	Facile!
	Attention...
	Réfléchis bien!

	
	
	

	140 + ............ = 200
	142 + ............ = 150
	200 = 157 + ............

	
	
	

	............ + 100 = 200
	............ + 3 = 180
	164 + ............ = 190

	
	
	

	200 = 150 + ............
	160 = 152 + ............
	95 + ........... = 200

	
	
	

	90 + ............ = 200
	102 + ............ = 120
	............ + 55 = 200

	
	
	

	............ + 130 = 200
	141 + ............ = 160
	200 = ............ + 52

	
	
	

	200 = 160 + ............
	200 = 195 + ............
	171 + ............ = 200

	
	
	

	190 + ............ = 200
	182 + ............ = 190
	180 = 112 + .............

	
	
	

	............ + 20 = 200
	182 + ............ = 200
	............ + 82 = 200

	
	
	

	200 = ............ + 60
	170 = 155 + ............
	200 = 25 + ............

	
	
	

	200 = 80 + .............
	............. + 8 = 180
	143 + ………… = 200
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2) Calcule ces additions.
	40 + 120 = …………
	90 + 42 = …………
	125 + 16 = …………

	160 + 30 = …………
	63 + 110 = …………
	164 + 23 = …………

	90 + 70 = …………
	120 + 58 = …………
	39 + 122 = …………

	130 + 40 = …………
	150 + 45 = …………
	42 + 142 = …………

	50 + 80 = …………
	75 + 120 = …………
	171 + 19 = …………

	110 + 30 = …………
	82 + 50 = ………… 
	36 + 121 = …………

	140 + 20 = …………
	60 + 79 = …………
	154 + 36 = …………

	60 + 50 = …………
	130 + 13 = …………
	84 + 111 = …………

	80 + 120 = …………
	180 + 19 = …………
	185 + 15 = …………

	170 + 20 = …………
	26 + 150 = …………
	163 + 38 = …………


3) Calcule ces soustractions.
	200 – 40 = …………
	200 – 14 = …………
	149 – 28 = …………

	180 – 50 = …………
	140 – 32 = …………
	158 – 62 = …………

	110 – 20 = …………
	190 – 63 = …………
	199 – 26 = …………

	140 – 60 = …………
	110 – 25 = …………
	147 – 52 = …………

	130 – 90 = …………
	200 – 34 = …………
	121 – 19 = …………

	200 – 60 = …………
	200 – 125 = …………
	139 – 67 = …………

	200 – 150 = …………
	160 – 93 = …………
	158 -39 = …………

	170 – 160 = …………
	150 – 55 = …………
	174 – 98 = …………

	200 – 180 = …………
	200 – 46 = ………… 
	184 – 56 = …………

	200 – 20 = …………
	200 – 189 = …………
	176 – 45 = …………
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